Measuring Balances
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Find the mass of the following containers. Each

The mass of 2 jugs is:
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The mass of 5 glasses is:
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The mass of 3 bottles is:
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The mass of 2 milk cartons is:
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stands for 100 grams.
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The mass of 1 jug is:
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The mass of 1glass is:
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The mass of 1 bottle is:
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The mass of 1 milk carton is:
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Answers

Find the mass of the following containers. Each stands for 100 grams.
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The mass of 2 jugsis: 300 g The mass of 1jugis: 400 g
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The mass of 5 glasses is: 500 g The mass of 1glassis: 100 g
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The mass of 3 bottles is: 600 g The mass of 1 bottle is: 200 g

?
A A

o ©
The mass of 2 milk cartons is: 800 g The mass of 1 milk cartonis: 400 g
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